Audi 100 A6,CA4.

( rok prod. 1991-03/1997) Zestaw $rubowy: BAR-POIL
M12X70 2 szt. BlzUB
M10x35 4 szt.

M10X90 6 szt.

M8X35 amputowe 4 szt.

Podktadki:
Fi12X35 12 szt.
Fi12 2 szt.
Fi10 4 szt.
Fi8 4 szt.
Sprezynowki:
Fi12 8 szt.
Fi10 4 szt
Fi8 4 szt.
Nakretki:

M12 8 szt.

Moment skrecajgcy dla srub i nakretek M8 25Nm; M10 55Nm; M12 85Nm; M14 135Nm ;M16 195Nm.




